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<y Simplifying Surds (C)
Progression: Medium with Bracke ts "

Section A: Simplify the following surds.

1) 5J2+72 6) V18 +/50

2) 7V2-42+9J3-243 7) J72-48

3) 115 +3J7 + 46 + 647 8) 412 +2427

4) 165 + 97 - 75 - 447 9) 5428-3./63

5) 3J2+7J3-7J3-8V2 10) 245 + 520 — 4/98

Section B: Expand the brackets and simplify the surds.

1) J3(2-+3) 7) (5++/3)(4+2V3)
2) 2J7(7-7) 8) (75 +2)5+4)
3) V5(545-3) 9) (1-3J7)(6-3V7)
4) 211 (4-11) 10) (V3 -1)(9V/3+5)
5) (J7+3)(W7-3) 11) (447 +3 )37 -1)
6) (8++/5)(8-+5) 12) (443 -+2)(3V3-442)

Section C: Expand the brackets and simplify the surds.

1) (V2 +1)° 4) 213 +7)?
2) (S11-2)2 5) J11(J/11-6)?
3) (3-5) 6) ((v2)°+5)
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ANSWERS

Section A: Simplify the following surds.

1) 5J2+72 1242 6) 18 ++/50 8v2

2) 7V2-4V2+9V3-243 73+ 32 7) J72-8 442

3) 115 +3V7 + 46 +6V7 97 + 1545 8) 4412 +2427 1443

4) 16V6 +9J7 76 —4J7 57 + 95 9) 5428 -363 7

5) 3vV2+7J3-7/3-8J2 -5v2 10) 24/45 + 520 - 4498  16V5 - 28v2

Section B: Expand the brackets and simplify the surds.

1) 3(2-+3) -3+ 243 7) (5+43)(4+243) 26+ 1443

2) 2J7(7-J7) - 1441437 8) (7V5+2)5+4) 43+30V5

3) V5(5V5-3) 26 - 35 9) (1-3J7Y(6-3V7) 69-217

4) 211 (4-11) - 22+ 811 10) (V/3-1)(9/3+5) 22-443

5) (W7T+3)7-3) -2 11) (4J7 +3)(3\T7 =1) 81 + 67

6) (8+5)(8-+5) 59 12) (43 =2 X(3V3-4J2) 44 - 196

Section C: Expand the brackets and simplify the surds.

1) (V2 +1) 3 4+ 22 4) 2B +7)2 42+ 10421
2) (J11-2)? 15 - 4411 5) V1H(V11-6)% 17711 - 22421
3) (3-+5)? 14 - 6¥5 8) ((v2)2+5)? 13+ 4v10
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